Premiére étape :
Br—CHz—(CHz)G—CHz—F + H—CECGI,Na€B—> H—CEC—(CH2)7—CH2—F+ NaBr
A B
Deuxiéme étape : B
H—CEC—(CH2)7—CH2—F +H,NI°Na®- °iC EC—(CH2)7—CH2— F,Na®+ NH,
B C
Troisieme étape :
e|(;E(:_(CH2 )7_CH2_F ,Naea + I_CHZ_(CHz)s_CHz_CQ_) C@_CHZ_(CHZ )G_C EC_(CH2)7_CH2_ F + Nal
C D
Quatrieme étape :
Cl—CH,—(CH,);—C=C—(CH,),—CH,—F + N=CI°,Na®-» N=C-CH,—(CH, );—C=C—(CH,),—CH,—F +NaCl
D E
Cinquieme étape :
N=C-CH,—(CH,),—C=C—(CH,),—CH,—F +H,0+HO°-°00C-CH,—(CH,),—C=C—(CH, ),—CH,—F + NH,
E F
Sixieme et derniere étape : Pd
HOOC-CH,—(CH,),—C=C—(CH,),-CH,—-F +H, - HOOC-CH,—(CH,),—CH=CH—(CH,),—CH,—F
BaSO,
F G



